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(b)
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(d)

(a)

In 4 drawer there are 5 black socks and ) & are picked randomly
ane after the other without replacemey - 2 pussibility that both the socks are
black? (5)
(i)  Find the least number which is e wibleby 12, 15, and 20, (25+15)
(ii) Find the largest number of 12, 15 and 18.

The sum of numerator and fraction is 30. If 2 1s added 1o numerator and
2 is subtracted from I 2/3. Find the fraction. (5)
Define (i) Probability on-Probability Sampling (2.5+135)

is 2 more than numerator. If the numerator as well as
4. the fraction becomes 8/10. Find the original fraction.  (5)

20 w a worker for each day and the worker forfeits Rs. 10 for each
end of 60 days, the worker gets Rs. 300. Find for how many days

(5)
50 hens, there were 45 goats and 8 horses and some farmers. If total
224 more than number of heads, then find the number of farmers.  (5)

wants to plant 17956 trees and arranges them in such a way that there are as
s as there are trees in a row. What is the number of trees in a row? (5)

cars ago, the average age of a family of 5 members was 16 years. After a baby is born.
the average age of family is the same today. Find the present age of the baby, (5)

Jahangir, Tahir and Malik started a business by investing Rs.1.00,000, Rs. 150,000 and
Rs. 1.75,000 respectively. Find the share of Malik, out of an annual profit of Rs. 46,000, (5)

“G" has to pay Rs.440 to “A" after | year. “A”™ asks “G" to pay Rs.220 in cash and defer
the payment of Rs.220 for 2 years. If the rate of interest is 10% per annum, in this mode

of payment? i5)
If Sultan distributes his pens in the ratio of 1/2: 1/4:1/5:1/7 between his four friends A, B,
C and D, then find the total number of pens Sultan should have? (5)

If Rs 1050 is divided into three parts, proportional to 1/3:3/4:4/6, then what is the first



0.5

(h)  Two pipes can fill a tank in 6 hours and B hours respectively while a third pipe empties
the full tank in 12 hours. If all the three pipes operate simultaneously, in how much time
will the tank be filled? 5)

e} A can lay milway track between two given stations in 16 days and B can do the same job
in 12 days. With help of C, they did the job in 4 days only. Then, C alone can do ihe job
in? (5)
(d)  In the given figure, value of x (in cm) 157 (5)

() (5)

4em c

-

(b} gle and a square are 160m each. The area of the rectungle is less
by 100 square meters. The length of the rectangle is? (5)
ic) Ay srest on Rs. 5000 at 6 % per annum for the period from Sth Feb 1o 19th
. (5)
idj v Sig@re drawn from a container full of alcohol and filled with water again. 10

) OFticobol and water left in the container 1s 49:32, then find how much quantity does
ntainer hold? (5)

(m) A boy runs opposite to that of train at a speed of 20 km/hr, If the relative speed between
train and the boy running in opposite direction is 50 kmv/hr. What is the length of train, if
it tukes 20 seconds o cross the boy, when he is at rest? (5)

(b) Two trains P and Q move in same direction with a speed of 85 kmhr and 70 km/hr

respectively. If rain P is 120 m long and train Q is 240 m, then find taken by train P 1o
cross the train Q7 (5)

(¢}  Define the following: (i) Mechanical Ability (i) Social Ability (2.5+2.5)
@)  IF“WORLD” is 1o 231518124, Then “TIME" is t0? (5)





